Section A: (19 x 2 marks)

For each question, four options are given. One of the options is the correct
answer, Shade the correct oval (1, 2, 3 or 4) on the Optical Answer Sheet.
Please use only 2B pencil and SHADE the oval completely.

1. The value of the digit 8 in 24 837 is

(1) 80
(2) 800
3) 8000

(4) 80000

2. 11 thousands 5 tens is the same as

(1) 115

@) 1150
(3) 11005

(4) 11050

3. 62 759 rounded to the nearest hundred is

(1) 62700
(2) 62760
(3) 62800
(4) 63000
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Whigh of the foliowing figures in the square grid below has both para ilel
lines and perpendicylar fines?
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What fraction of the shapes in the box are A ?
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6. Howmanyguarters:are there:in 2 wholes?

(1)

@

(3
)

(o] A OBl AN

7. Inthe figure below, what is the length of the pencif in cm?

(1) 9.6cm
(2) 94cm
(3) 86¢cm

(4) 8.4cm

8. Which number below is 1.3 less than 4.787

(1) 3.48
2) 4.65
(3) 4.91

(4) 6.08
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9. The bar graph below shows the number of storybooks read by Primary Four
pupils in ﬁunshme Primary School,

L]

Number of storybooks read

40 +—

<
i

fow]

Numbeér of rﬂr&f;}ls

10 1

2 3 4
Number of storybooks read

How many pupils read more thar 3 books?

M 82
(2) 86
(3) 110
@) 114
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10. Cheryt bought some: straw
the remaining strawbefries to her6 friends. Each of her friends received

1.

yeries. She ate 28 strawberries and gave

37 strawberries. How many strawberries did Cheryl buy?

(1y 131
(2) 194
(3) 205
4) 250

8 identicat bags and 3 identical shirts cost $126.
3 such bags cost as much as 2 such shirts. What is the cost of one such
shirt?

(1) $12
(2) $14
(3 %18
(4) $42

www.geniebook.com



Asyikin Latiff


At first, Pamela was standing at Point X facing the market, $he tuiried
ity &n arifi-clockwise direction. Sha is facing the school now. What was
the angle she turned? .

“Market | MRTStafion

Piayground - — I X Food Cenfre

Schoot Shappfingz Centre
Park

(1) 45°
@ 80
(3) 135°

@ 270°

left, How many cupcakes did he bake'9‘

(1) 36
(2) 48
(3) 147
4 196
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4. Benny bought & buns. Each burt cost $1.30. ‘He gave the cashier some

15.

16.

- money anid received a chan,

& of $0.60. How muchmoney did he give the

cashier?

() $10.90
(2) $1040
(3) $18.90
4) $20.00

A ribbon of length 2.4 m Is cut into 2 pieces. The longer piece is 4 times as
Jong as the shorter pisce. What is the length of the shorter piece?

(1) 0.48m
(2) 0.60m
(3) 1.20m
4) 1.92m

The square has a side of 6 cm. The rectangle and the square have the same
perimeter. The length of the rectangle Is twice its breadth. Find the length of
the rectangle.

(1) 4cm
(2) 8cm
(3) 16cm
(4) 24cm
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The line graph- below shows the temperatures in Singapore for  particalar day,
Study the graph carefully and answer questions 17 and 18,

Temperature In Singapore

PR PO

30 §

P NS — A—

20

Temperature (°C)

8am. 10am 12pm. 2pm 4pm. Bpm
Time

15 -

17. During which 2-hour interval did the temperature decrease the most?

) 8am. to10am,
() 10am. to12 p.m.
(3) 2p.m.to4pm.
4) 4pm.to6pm.

18, What is the difference between the highest temperature and the lowest
temperature? |
(1) 6°C
2) 12°C
(3 20°C
4y 32°C
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19, Atfirst, A“ﬁmad was standingaf one of the points shewn in the grid. Then, he
Walked 3 steps to the South, 2 steps to the East and 1 step tothe North. He
ended up at pamf,HiAf which point was he standing at frst'?

1 step

1‘stepr

e
@

") A
@ B
® C
4 D

~ End of Booklet A~

10
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Section B: (20 x 2 marks)

Write down your answers in the spaces provided. For questions which require
units, give your answers in the units stated. Show all workings clearly.

20. What is the remainder when 1358 is divided by 97

Ans :

21. Measure and write down the size of £x.

Ans
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. 22 . — Do not write
22. Write 5 asa mixed number. in this space
Ans:
23, Write 7 thousandths as a decimal.
Ans :
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Tifisspace

;

2
o
C o

Armount of Money (§)
&
2

400

200 -

January Febrﬁary March Aprif'
Month

How mueh moaney did Amos receive altogether from January to April?

Ans:$ _

4
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25.

26.

Find the perimeter of the figure below. All the lines meet at right angles.

23 cm

A

27 cm

A picture is mounted on a frame measuring 26 cm by 34 cm. Find the area of

the picture.

26 cm

7 3

\ 4

E 3
] 2cm

v

' A3 cm

\ 4

Ans:

34 cm

Ans :
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27.

28.

The figure below is made up of 4 similar rectangles. The breadth of each
rectangle is 7 cm. Find the area of the figure.

Ans : cm?

Arrange the following numbers from the smallest to the greatest.

2
5 0.402 , 0.042

Ans :

Do not write
in this space

(srallest) (greatesh

6
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Do not write

29, Write the decimal represented by A. h
in this space
lLIIIlLllIILlIII
IIIIIfllllliI}!fl
0.7 0.8
A
Ans :

Jane had 3 m of ribbon, She gave her mother 0.6 m of the ribbon and cut the

30.
remaining ribbon into 4 equal pieces. How long was each piece of ribbon?

Ans:
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- 31,

32.

Which two-of the fractions below are smaller thanE 7

4 SR

Ans : and

" In the figure below, rectangle ABCD is made up of 8 unit squares. What

fraction of rectangle ABCD is shaded?

Ao 0B

Ans:
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- Dt it wite
i this paes

34, In the figure below, name the two anglas thatare smaller than §0°.
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The table below shows the number of plates of chicken rice and fried noodles sold in
the school canteen from Monday to Friday. Study the table carefully and answer
questions 35 and 386,

D Number of plates sold Total number of
a
Y Chicken Rice | Fried Noodles plates sold
Monday 24 65 89
Tuesday ? ? 60
Wednesday 62 33 85
Thursday 76 22 98
Friday 16 61 77
35. On which 2 days were there a fotal number of 175 plates of chicken rice and
fried.Aee sold? .
Noodles
Ans : and
36. On Tuesday, the number of plates of chicken rice sold was three times the

number of plates of fried noodles sold. How many plates of fried noodles
were sold on Tuesday?

10
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—Some factors of 32 are 4, 2, 4 and 32, What are the other two factors of !

Ane: . _emd_ .

Aﬂima Brah‘lm and Chitra had 880 stickers. Brahim =j2;ﬁa:3 few fies a3 man

sﬁekegs d’:& A}tcra hév<;§

Ans

Sharifah pammpated in a mathematics quiz that congisted of 10 questions. |
For eveyy correct answer, she was awarded 3 points. For every wraag
answer, 2 points were deducted, Sharifab scored 15 points in the Quiz. How

many questians did she answer correc

2

Ans :

1
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1 Do not write
' in this space
Solve the following problems. All nathematical working and statements must

40.  The figure below shows a square ABCD.
Find the sumof Zxand 2 y.

Ans : [3]

12
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5 soma orange drink usir , 3. | bototwrite
Siti made some orange drink using water and orange' syrup. She used 2 £ of | in this space

water and ¢ £ less syrup than water. How much orange drink did shie make?
Express your answer as-a mixed number in-the simplest form,

Ans . [3]

13
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42,

The total mass of a container w:th 4 similar cupcakes was 237 2 g. After
2 cupcakes were removed,. thé-total mass of the contiiner And the
remaining cupcakes was 169.6 g. What was the mass of each cupcake?

Ans:

14
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| Do hetwite
ir ks space

y 3

18 cm

{8) Find the lengthof the rectangular piece of paper before it was folded.
{bj Find the area of the rectangular plece of paper before it was folded,

Ans : () | 12]
o) ____ I 2 |

18
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iht another | Do notwite

44. Caili had: 286 mors-marbles than:Dinesh at first. After Caili: bou . Do notiwrite
' - in this space

75 marbles, she-had 3fimes as many marbles as Dinesh. How many marbles
did Caili have in the end? '

Ans: [4]

16
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4. Ons mwm%b@ : T"té@&i ﬁte@:ﬁm gﬁa@i a sgﬂaﬁe ‘table. The

tbles and chuirs

Nien B such tables are julned to form afony table,

wan be placed atthe long table?

(b} How many fables are needed to place 24 chaiss?

Ans :{a) _

3 se;uare ta’ﬁws}

how many ehairs

[2]

®_

17
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PAPER 1 BOOKLET A

Q1 Q2 Q3 Q4 Qb Qe Q7 Qs Qs | Q1o

2 4 3 4 1 4 3 1 1 4

AT T iz | Qi3 | a1 | Qis | aie | Q17 | Qis | Q19
3 3 ) ) i 2 3 2 1

PAPER 1 BOOKLET B

Q20) [ &
Q21) 32°
Q22) 5 g_
Q23) [ 0.007
Q24) | $3360
Q25) 100cm
Q26) | 600cm?
Q27) | 392cm?
QZS) 0. 042,%, 0.402
Q29) 0.1+10=0.01
Q30) | 0.6m
Q31) ; and 1_30.
Q32) 3
8

Pgl
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Qz)[

Q34)|Eand C
Q35) | Friday and Thursday
Q36) | 15
Q37) | 8 and 16
' Q38) - 560 — 20 = 540
‘ 540 +~9 = 60
Ans: 60
Q39) {7 -
SECTIONC
Q40) 90° — 59° = 31°
90° — 25° = 65°
65° + 31° = 96°
Ans: 96°
Q41) 3_6
4" 8
6 1 _ S
8 8 8
5 6 3
s"8= 18
Ans: 1-2-1
Q42) c+4cs » 237.2g
c+2¢cs - 169.6g
237.2—169.6 = 67.6
67.6+-2=33.8
Ans: 33.8g
Q43) (a) 18+ 18 +16 =42cm
, (b) 42 x 8 = 336cm?
Q44) 285 + 75 = 360
360 -2 =180
180 x 3 = 540
Ans: 540 . :
Q45) (ayg8+2=10
10+2=12
12+2 =14
-Ans: 12
(b) 22 + 2 = 24|11th
Ans: 11
Pg2
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